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(1) 5X4-+2= (2) 20+-4X%X2= (3) 6X3+3=
(4) 18+3%4= (5) 63+-9X5= (6) 100+10+5=
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(1) ~6=5HF" 3 (2) +~3=30 HFE" 2

(3) 70—+ =7 HEY 7 (4) 123+ =20 H %Y 3

(56) 380+ =5 o %) 30 (6) 824+ =9 HEl 14

(7) +~4=600H% 1 (8) +8=7000 %Y 5
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(1) 25+-5%x2= (2) 24+-3%x5= (3) 6X4+-8=

(4) 49+-7X6= (5) 64=-8+4= (6) 810+-9+-10=
(7) 540+-6+3= (8) 480+-8+5= (9) 1000+100+2=
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(1) 59+-8= HE TeULhHE X + =

(2) 245+-30= HEY) ZLhHE X + =
(3) 370+50= HEY TeULHhHE X + =
(3) 582+60= HEY TEULHh®HE X + =
(5) 719-+-80= HEY ZLhHE X + =
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EZLED 1imial
(1) 35+8= hHE) (2) 52=7= HhEV) (83) 17+3= hEL)

(4) 43+-6= HFV (5) 28+3= HFY (6) 49+-6= HFV
(7) 34=-7= BHFY) (8) 49+-5= HFY (9) 40+-9= HFY
(10) 62+-8= HFW (1) 70+9= HFY (12) 40+-6= HFY
(1) 23+3= HFEY (1) 47+-6= DHFV (1) 54+-7=  HFY
(16) 35+4=  HFEY (1N 15+-4= HFEY (18) 39+-8= HFY
(19) 78+-8= HFY (20) 30+-4= HFY (21) 52+6= DHFY
(22) 26+-9= HFY (28) 15+-8= HFY (2) 78+9= HFY
(28) 57+-6= HFY (26) 69+7= HFEV 21 29+6= HFY
(8) 37+5= HFEY () 17+-9= HFY (30) 88+9= HFY
(31) 43+5= HFEV (8) 55+-8= HFV (8) 70+-8= HFEV
(3) 51+-6= HFY (3) 62+7= HFEY (3) 73+9= DHFY
(3 33+4= DHFY (38) 69+-8= DHFEY (3 71+-9= HFY

(40) 105+10= HEV)
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